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a) 3 BPI0P
b) 4 T30
c) 5 TR0

d) 6 SRICH

36. FISNIPYNYY 030xx) Input cum Output device BSNT? (Which of the

following is an Input cum Output device?)
a) Touch Screen Monitor
b) Secondary storage Devices

¢) A and B

d) None of the above

37. 3LNTHNYY 03008 Tewd Z003NT? (Which of the following

statement 1s correct?)

a) Resulation ZepTOS ReoFoBhoTrm TTWOL 306G TR ¥BPOTT
noeoTdYy é&%ﬂgd’ (The higher the resolution, the higher the quality of

an image seen on the computer screen)



b) Resulation &253008 11£030N0TT TTTOD 3¢S 56T WFPOTT
MOEOEVES FRVOIPMISTI (As resolution increases, the quality of an image

seen on a computer screen decreases)

c¢) Resulationiio Tone NEdBORN0ZT [TTIOH =03 BT 33T
MOEOTVING T 0IPITI¢ FOLOFNTFNY (Resolution has nothing to do

with the quality of the image seen on the computer screen)

d) 20edT Q) TO (All of the above)

38. MeaB00T/ [RZST FOWORATOZ VLC 0 DF 3 TR v (

Extended version of VLC for PC/Mobile ... )
a) Video LAN Clear
b) Video Line Client

¢) Video LAN Client

d) DT CIFTH VY

39. 60&&%@305 283 Bo30FCNY WERT PROTJR AIPFT? (What is the

element used in making computer chip?)
a) 302, (Copper)

b) IRCFO (vanadium)



¢) ©&o3Fo (Lithium)

d) 29z=° (Silicon)

40. PORTR B020QATOZ F$NT O30T 29T 3@?363? (Which of the

following statement regarding PORT is false?)

a) SERIAL 2t 030009 | Qi) 318 Bmodnt, 39033,

(SERIAL It sends only 1 bit of data at a time.)

b) USB @t 03500 9308 Sermon [3903wma), @morodamdgs (USB It

transfers data very fast simultaneously)

¢) PARALLEL %t 9383t o¢p PORTRONCS Senny) meodas,
SmeroRBEN (PARALLEL It transfers data faster than all other

PORT)

d) 0edT 2R TePINLL SzNI (All of the above statements are false)

41. 1024 TB 3$NIYNTQ 8mwhss, Bed? (1024 TB is equal to which of

the following?)
a)l YB
b) 1 ZB

c) 1l EB



d) 1 PB

42. 3$NIPNYY 035030 Oprating System? (Which of the following is

an Operating System?)
a) Windows
b) Chrome

c) MS Dos

d) A and C

43. BT DB ICONRY LeeBRA FoLOHATOZ FYNT 0PI
B9 BO03NT? (Which of the following statements is correct regarding

the arrangement of ICONs on the desktop?)

a) Iconn¥s), ©PYnT mog(size) wRbR e ReeRBTTNS (Icons

can be arranged according to their size)

d) Iconrisd defaultsn EREBEOIPNTY WINTRY, TTERCRILD WP

(Icons are aligned by default and cannot be rearranged)
c) A R B (A and B)

d) 20edT PP ©Y (None of the above)



44. MS word3Q Ctrl+ Shift+G Q02 ZotFF3Es d¢ QRPYTT, L3
SoEwRndec? (What is the short cut key Ctrl Shift+G used for in MS

word)

a) ©30T meg DA (To increase the font size)

b) ©3TAFI), L.ocsNRLD (To italicize the letters)
¢) BT Q3 WRT T, WIT® wewer (To open the word count box)

d) N BRAT T3, 3O (Moving to the specified page)

45. MS wordSQ H,S0,3Q 2 =& 4% DO FTONWTITR? (What can 2

and 4 in H,SO, be called in MS word?)

a) ATT® AT (Super Script)

AT,
b) = 3%, (Sub Script)

¢) BRewt® AF° (Lower Script)

3 el

(.

d) @86 ¢ (Strike Throw)

46. Drop Cap 3Q TRUINMRT'S &ReTBO @) default DT FLORTBIN
Drop ©n338c3? (In Drop Cap How many lines does the first character of a

paragraph drop by default?)

a) 3 eend (3 lines)



b) 2 TN (2 lines)
c) 4 TN (4 lines)

d) Default &N drop 8mxRQ (By default it doesn’t drop)

47. MS Excel i1 H02)0RAT0Z ECCOD QT B CRD.wmemrvre (Extended

form of ECC in relation to MS Excel.....con.. )
a) Excel Spread Sheet
b) Excel Service Sheet

c) Extension Service Sheet

dElectronic Spread Sheet

48. MS excel3Q K32 Zr=3Q Tpear Bowdsms oNdAm, 132 37 3Y
©3T FOWFT FBIWI), (Deductrions) TDOAT, M323Q T¢ BowFTIY
TEODLO M323Q 03 ARTWR), 8" Bwmeiesd? (In MS Excel the full
salary is entered in cell K32, his salary Deductrions is entered in cell L32,

which formula should be typed in M32 to get net salary in M329)
a) (K32+L32)
b) =(K32-L32)

¢) (K32-L32)



d) =(K32-L32=M32)

49. MS Excel3Q D5 3¢ IQWH [0S0, DR B[wedesoss
ROTILFLWOTRN 8 FS® T, BB BIOBuwmverrre (When you need to edit

the information in cell D5 in MS Excel, to activate that cell........m.. )

a) FO° e 0T 2300 3T &Eeed (Click once on the cell)

b) B et B §F TRBWR (Double click on the cell)

€) 20T R0 AL T [P IODNTY, LT [TPRT TOTT DWEF [IT/ED

mc%&g (Once information is typed into a cell, it cannot be edited)

d) F5 35 $0omdw s0wews (By clicking F5)

50. MS powerpointTQ TomPION OLIDE F T NRE MO mwmwerrne (Size
of slides commonly available in MS powerpoint.......... )

a) 4:3

b) 16:9

¢) A and B

d) 5:4



51. MS PowerpointsQ custom Slideshowns ©RBR Q... (Advantage of

custom slideshow in MS Powerpoint.......... )

a) SR ONZTRNTHT slidenssy, =g, slide shown 2.&TRWTHT (Only

the slides we need can be included in the slide show)

b) RRTW slideRoT =39 slide show T0PFLZITH (Slide show can be

started only from the first slide)

¢) Slide3T text CRTH ks RN TYFN BEBFoHTS (The

information in the text form in the slide will be displayed to us directly)

d) 20edT 29 (All of the above)

52. IP @3ex* 11 FOWOHATOZ 03P HewT S:NT? (Which statement

regarding IP address is false?)

a) IP ©ZBex IO TRFDTIRNOT L3eTFE ToLY, BOLBNY MOTVNTTOIES

(An IP address consists of groups of four numbers separated by fullstop)

b) IP 0ZEex" 3 B8 MOLTY WFTIWNTVTW FOBNR 0 00T 255831
Qdagd (The numbers used in each group of IP addresses range from 0 to

255)

¢) IP ©@ex® T W3 ST e.-s%gﬁ Inter connected Network <w3,3Th
(The literal version of an IP address is called an Interconnected

Network)



d) 20edT 2P (All of the above)

53. 3INTRNIY CIRHTE, Ne030H0TT FRET 20T FS0HWBM? (Which

of the following can be called a computer phone?)
a) Modem

b) HTTP

c) IP

d) .gov

54. Li-Fi i 020703 030 3e9F 5003NG? (Which statement is

correct regarding Li-Fi9)
a) 0 Wireless communication ¢ATS (It is wireless communication)
b) aw3Q Light Waves @33 23¥53e9md385 (In which Light Waves are used)

¢) A and B

d) None of the above

55. B WFTRETT 11 FOLWOHATOZ O3z Tews HO0IPNT? (Which

statement is correct regarding Nudi software?)



a) QT FIWRIDY, LT TR WEHLD BT DT mogg e (This is the

only software to use for typing Kannada)

b) 88 DT PT” VI TITW AT, TORB) wRRQ TR (This software is

developed by Kannada Sahitya Parishad)

¢) TAT B8 WFTRT ¥, ITT ORFQ TWOFTT BFLAIT (Currently

this software is maintained by Kannada Development Authority)

d) 0T R @Y (All of the above)

56. Nee30R0ZTY D& 4.0 I FCNFATFLRLeFTT (To run Nudi 4.0 on

the computer)

a) Scroll Lock &5° 50E23¢8> (Scroll Lock should be turned on)
b) Ctrl key &5° &50wesesd (Ctrl key should be turned on)

¢) Alt key &5° =@edes (Alt key should be turned on)

d) Caps Lock key &5° @oowedesd (Caps Lock key should be turned on)

57. DB S0TYOTT 13T B[S o3weytd? (What is the latest version of

Nudi software?)
a) 6.0
b) 6.1

¢) 6.5



d) 7.0

58. BOTHE O éiéw_"" RPEL DRODY ¥RLIeTT s 0IPRRY? (What

are the keys to use in Nudi to type Skandashree?)
a) sfkMdSfrl
b) sfKMdSftl
c) SfkMdSfrl

d) 20edT IR ®Y

59. 3YATHRTY CIRHTE, VDU 208 30i@rd3s? (Which of the

following is called VDU?)
a) Printer

b) Monitor

c) CPU

d) Cable

60. BOTRLT" ARBWITZON IT, THONF W), 33 YITITY ONRPROZTH?

(A computer usually executes its task in this sequence?)

a) Decode- fetch- Execute



b) Execute-Fetch- Decode

¢) Fetch-Decode-Execute

d) Store-Fetch-Execute

61. EPION E-Mail O$0FTY @ BBOI wrverrsrn (Usually the @

symbol in an E-Mail address 1S ......ceeenen. )

a) User ID 302 Domain Namen¥s), HSemr R8T (Separates User ID

and Domain Names)

b) User ID =02 Domain Namenesy, 22ReRROTTI (Associates User IDs and

Domain Names)

¢) LFFHTITY, mail FPOL TOATRET FOTIOD 2R LRI

D

(Connects the user to the company that provides the mail facility)

d) 20edT 2P (All of the above)

62. Corle Draw <0205t 2,0%0 (Corle Draw is one)
a) Operating System

b) Application Software

c) Web browser

d) None of the above



63. BBBWT Fol, 47 W) BHRPTE, BOBIFATN AT WIT?

(Converting the decimal number 47 to octal gives the answer?)
a) 50 (s
b) 75 (s
¢) 57

64. r\’sa%ojaogi FOLOQATIOS Proccessors wRTY NN 03o)w)? (What

are the three parts of a processor regarding Computer?)
a) ALU, CU, Registers
b) RAM, ROM, CD-Rom

¢) ALU, CU, MU

d) Cache, CU, Registers

the decimal form of this binary number?)
a) 25

b) 15



¢) 35

d) 25

66. Parts of the following sentence have been given as options. One of them

may contain an error. Select the part that contains the error from the

given options. If you don’t find any error, mark ‘No error’ as your answer.

Soon or later, our efforts will be rewarded

a) No error

b) Soon or later

c¢) our efforts will

d) be rewarded

67. Select the most appropriate meaning of the given idiom.

Bolt from the blue

a) To get good news

b) To win a large sum of money

c) To receive unexpected news



d) To get lucky

68. The following sentence has been divided into parts. One of them may

contain an error. Select the part that contains the error from the given

options. If you don’t find any error, mark ‘No error’ as your answer.

I am looking forward / to meets you / at the convocation party.

a) I am looking forward

b) to meets you

c) at the convocation party

d) No error

69. Select the most appropriate option to fill in the blank.

Most natural diamonds have some type of.

a) Flaw
b) Flow

c¢) Floor

d) Flour

70. Select the option that can be used as a one-word substitute for the

given group of words.



A collection of selected writings of various authors

a) Trilogy
b) Sequel
¢) Anthology
d) Etymology

71. Select the most appropriate option to fill in the blank.

It was the last of the puzzle.

a) Piece
b) Priest

c) Peace

d) pique

72. Select the most appropriate ANTONYM of the given word.

Escalate

a) Plunge
b) Attack
c) Employ

d) Pretend



73. Select the most appropriate option to fill in the blank.

My father home last week.

a) has gone
b) gone
c) Go

d) Went
74. Select the most appropriate synonym of the given word.

Imitate

a) Imagine
b) Surrender

C) Invent

d) Copy

75. Select the most appropriate synonym of the given word.

Delighted

a) Unsuited
b) Disliked
C) Coarse

d) Joyful



76. Select the option that corrects the incorrectly spelt words in the given

sentence.

Her expresion grew blaend again

a) Her expression grew bland again.

b) Her expression grew blend again.
c) Her expretion grew blaned again.

d) Her expression grew blaend again.

77. Select the option that will improve the underlined part of the given
sentence. In case no improvement is needed, select 'No improvement

required’.
The eggs are warm into a suitable temperature for the larvae to hatch from
eggs.

a) are warmed for

b) is warmed at
¢) are warmed to

d) No improvement required

78. Select the most appropriate option to fill in the blank.

I walked down the stairs, careful to be as quiet as possible.




a) Orderly

b) Furiously

¢) Cautiously

d) neatly

79. Select the most appropriate option to substitute the underlined segment
in the given sentence. If there is no need to substitute it, select ‘No

substitution required’

Uncle readjusted his hat and soon was listening to the conversation with as

much interest as [ was.

a) so much interest

b) so many interest

¢) No substitution required

d) as many interest

80. The following sentence has been divided into parts. One of them may

contain an error. Select the part that contains the error from the given

options. If you don’t find any error, mark ‘No error’ as your answer.

I have not saw / your sister since she / came to this city.

a) your sister since she



b) came to this city

¢) No error

d) I have not saw

81. Select the option that can be used as a one-word substitute for the
given group of words.
Short story with a moral

a) Memoir
b) Axiom
c) Biography

d) Parable

82. Select the correctly spelt word.

a) Exacutive

b) Executive
c) Exicutive

d) Exeacutve

83. Select the most appropriate option to fill in the blank.

this house in this amount.

It’s not possible to



a) Console

b) Renovate

c) Bleat

d) astonish

84. Select the most appropriate meaning of the given idiom.

By hook or by crook

a) By a narrow margin
b) By any means
c) By default

d) By mistake

85. Select the most appropriate ANTONYM of the given word.

Variety
a) Fusion
b) Medley

¢) Similarity

d) Diversity



86. Instructions [86-90] In the following passage, some words have been

deleted. Read the passage carefully and select the most appropriate option

to fill in each blank.

Every now and then there are going to be bad days, tough days, moods

swings and all things nasty that may put a (1) on our happy days.

At any given moment, however, we are the ones who can make a (2)

between letting these things get in the way or pushing them right out by (3)

time in things or people (4) make us happy. I've had this
list of things that has made me happy for years now. I made it back in
college to help me deal with some difficult times that I faced then. Even

today, every now and then when things go (5) I always go back to

this, and one or more things listed here always lights me up!

86. Select the most appropriate option to fill in blank number 1.

a) Smile
b) marker
c) makeup

d) damper

87. Select the most appropriate option to fill in blank number 2.



a) Difference
b) Choice
c) Bridge

d) gap

88. Select the most appropriate option to fill in blank number 3.
a) Investing
b) Spending
¢) Spreading

d) expanding

89. Select the most appropriate option to fill in blank number 4.

a) Where
b) Which
¢) Whom

d) who

90. Select the most appropriate option to fill in blank number 5.

a) Right



b) Fast

¢) Wrong
d) slow

91. Select the correctly spelt word.

a) Disstract

b) Destarct

¢) Distract

d) Distarct

92. Select the most appropriate synonym of the given word.
Probe

a) Search

b) Motivate
c) Invite

d) Push

93. Select the option that will improve the underlined part of the

sentence. In case no improvement is needed, select ‘No improvement

required’



You are looking so pretty on these black outfit.

a) pretty in this
b) No improvement required
c) prettier in these

d) prettiest with those

94. Select the most appropriate option to fill in the blank.

He is the patient called you in the morning.

a) Which
b) whom

¢) Who
d) That

95. Select the option that can be used as a one-word substitute for the

given group of words.
Made in imitation so as to be passed off fraudulently as genuine

a) Counterfeit

b) Staunch
c) Authentic

d) Deliberate



96. Select the most appropriate option to fill in the blank.

Many people like playing cricket, but my opinion, it is

too chaotic.

a) In
b) From
c) For

d) With

97. Select the most appropriate option to fill in the blank.

If you want to save your money, start living an life.

a) Improper
b) Economical

c) Extravagant

d) Indulgent

98. Select the most appropriate synonym of the given word.

Clandestine

a) Blatant

b) Ornate



c) Open

d) Undercover

99. Select the option that will improve the underlined part of the given
sentence. In case no improvement is needed, select 'No improvement

required’.
In India, processed foods becomes popular in the 20th century.

a) became popular in
b) become popularity in
c) No improvement required

d) become popular at

100. Select the most appropriate option to fill in the blank.

This cruise ship in November and December.

a) Sails
b) sells
c) Sales

d) Seals



